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& =] HT 301 517 243 274 [rié) i 1+ HT 415 129 332 397
E £ 1 T H 180 315 160 155 | | KR Il 1 T H 139 265 116 149
E £ 2 T H 149 307 142 165 BRI 2 TH 257 486 222 264
A # T 324 621 277 344 | |FE N iy 320 586 281 305
[ 5 HT 256 505 225 280 mg k1 TH 313 661 313 348
T R T 135 260 123 137 | |8 & & 2 T H 222 462 192 270
# B 1 T H 304 592 282 310 B g 3 TBH 631 1, 231 554 677
s B 2 T H 236 418 207 211 wmh R 4 TEH 321 638 290 348
# B 3 T H 253 488 199 289 m &gk 5 TH 164 344 158 186
s B 4 T H 258 510 258 252 | |#E 1 iy 180 300 132 168
i N 1 HT 96 174 88 86 w = & @B 112 182 79 103
£ & 8 HT 279 520 246 274 i HT 17 35 18 17
i - ] HT 69 102 63 39 ® Z = HT 121 194 90 104
i b g 265 484 233 251 B OKH W H 168 332 164 168
T E®E B 328 629 301 328 | | I B &/ AT 140 246 121 125
£ ] H HT 205 353 163 190 B 15 B HET 230 387 163 224
* & E H 78 141 64 |l |E E B f 257 432 200 232
il iy 148 319 162 157 ®’ i 1+ BT 123 237 118 119
= Er| 2,373 2,452 2,137 35| |1 K Il HT 193 402 172 230
= £ 1 T H 492 827 382 445 Xk 1 TBH 259 460 217 243
= % 2 T H 297 588 273 315 | |l &b &2 2 T B 184 330 154 176
= %&£ 3 T H 206 34 165 176 X &k 3 TBH 244 454 215 239
= % 4 T H 213 424 215 209 |® &0 &2 4 T B 165 308 141 167
= o iy 409 731 331 400 | ® 1 T H 205 381 176 205
& Kk 1 T H 172 322 149 13| |®m @ 2 T H 75 128 61 67
&F Kk 2 T B 184 340 17 169 R = &# @ M 103 182 87 95
F Kk 3 T B 83 138 69 69 I R HT 242 516 234 282
T ] H iing 91 182 91 91 ®K B 1 T H 187 349 157 192
i) #0 T 0 0 0 o Kk ®m 2 T H 116 226 117 109
i = iing 132 224 100 124 K B® 3 T H 155 310 136 174
S T 477 1,116 524 502 | |& h BT 127 239 112 127
h & 1 T B 137 219 106 113 . ET 658 1,091 548 543
h & 2 T B 381 583 269 34| [ & 1 T B 330 514 236 278
h & 3 T B 692 1,296 613 683 X @& 2 T H 352 609 292 317
b & 4 T B 32 69 32 37| |x @ 3 T B 194 287 139 148
h & 5 T B 397 678 315 363 X & 4 T H 363 651 313 338
B & 6 T B 504 874 436 38| | X & 5 T B 296 483 218 265
h & 7 T B 247 566 256 310 X @& o6 T H 316 523 269 254
- ih iy 43 75 37 Bl X~ @ 7 T B 242 457 228 229
F N iing 257 494 246 248 X & 8 T H 168 300 141 159
B & 1 T B 258 473 212 261 by i3 iy 191 390 179 211
@& 2 T H 222 381 163 218 53] I )N BT 117 229 103 126
m @ 3 T B 117 17 85 86 | [\ i iy 136 258 109 149
tm @& 4 T H 168 258 116 142 W F 1 T H 217 393 180 213
=3 b=} iy 151 299 126 1| | F 2 T H 178 272 135 137
& / X ing 243 479 212 267 m % 1 T B 123 232 114 118
= b} T 2 2 0 2| | ® 2 T BH 217 375 177 198
= Al lIge ing 95 159 79 80 Mm £ 1 T B 292 608 303 305
wm ' 7 H 204 350 168 182 | |1 £ 2 T H 244 44 227 214
] A il ing 203 451 203 248 0 E & BT 357 650 307 343
/wm ol |’ 7/ 178 297 138 159 0 E X HT 302 543 275 268
] 15 B ing 93 165 64 101

mEMB1TA 120 198 99 99

E B 2 T H 232 422 206 216 hR § 25,647 | 45237 | 22,239 | 22,998
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= B 1 T H 206 386 182 204 i i HT 318 622 285 337
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® & 3 T H 169 290 133 157 & @ oith s @ HT 213 390 166 224
= ® 4 T BH 178 348 166 182 | |15 # B i) 123 216 101 115
® & 5 T H 129 224 113 111 EHEHFE1TEH 348 697 345 352
= & 6 T H 116 203 101 102 | [S@&ET2TAH 5 7 4 3
= R’ 7 T H 289 414 252 162 = b ® HT 144 256 123 133
= & 8 T H 163 291 137 154 | |5 @ ® & 95 166 75 91
B FE 9 T H 117 199 85 114 5 F ¥ o4& H 116 211 106 105
= & 1 0 TH 175 296 149 147 | |SHEAB1TAH 147 251 118 133
= ® 1 1 T H 146 278 139 139 HHEAE 2TH 202 390 176 214
= & 1 2 TAH 263 501 248 253 | |HAEAE3TH 75 138 57 81
= ® 1 3 T H 279 544 295 249 HHEAE 4TH 26 49 24 25
gl /J AN HT 311 563 243 320 EHETE1TAH 124 248 119 129
i R i) 119 224 106 M8 | [E@hET 2 TH 173 336 165 171
& W g 366 501 316 185 | [S@ B 3TAH 159 325 145 180
= A i) 185 327 153 174 | |E@AE 1 TH 113 200 87 113
b R iy 226 387 192 195 HEHEAEB2TEH 145 300 145 155
HHAHE 3TH 131 271 131 140
=R § 3,584 6,253 3139 | 3114 |&F & #H IE H 69 133 61 72
H B L+ W H 97 200 95 105
5 # B ™ H 110 21 92 119
5 FE @ B HET 86 147 64 83
5 ®H 8 T M 134 208 92 116
¥F =2 = HT 91 152 70 82
i3 x HET 128 240 118 122
5 B HT 147 292 131 161
X 1} ET 74 154 76 78
i &£ iy 47 86 39 47
P = ET 168 288 124 164
A P B HT 448 1,072 522 550
5 b | ET 116 240 143 97
=H 4653 | 8958 | 4276 4,682
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Z®EHEE 1 TBH 351 539 258 281 X & & B 85 140 67 73
2 ®H B 2 T H 75 135 12 63 X i =+ &® BT 120 229 108 121
Z@EHE 3 T H 158 291 135 156 XimE1TH 104 235 109 126
Z E B 4 T H 287 561 284 27T | (R A& 2TH 198 490 238 252
Z®EE 5 T H 165 301 148 153 Xim&E3TAH 233 503 236 267
Z E B 6 T H 144 253 17 136 | K@K 4TH M 88 39 49
Z®EE 7 T H 163 294 147 147 X KE1TEH 157 356 179 177
Z E B 8 T H 141 261 121 140 | | XW KE2TH 125 264 125 139
Z@EE 9 T H 233 350 164 186 X KE3TBH 45 60 25 35
z2 FH B ® 1 1 0 1| | XREEABR1TH 123 245 113 132
¥ % 1 T H 4 n 36 35 XEERAK®K2TEH 60 123 54 69
M B 2 T B 117 190 94 9% | |IX & ® H 314 571 281 290
# % 3 T H 13 129 60 69 X it = BT 51 109 50 59
B % 4 T H 45 12 35 37 X i & & H 93 165 12 93
# % 5 T H 31 60 28 32
B B 1 T H 42 73 37 36 X E 1,749 | 3578 1,696 | 1,882
B B 2 T H 29 50 24 26
R B 3 T H 32 43 20 23
EFEE & 2,128 3,674 1,780 | 1,894
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Lo EY » &8 389 796 373 423 BT & & 1 T H 240 354 202 152
B o ®OE 489 935 413 522 | |l & &t 2 T H 82 158 64 94
Ly 21 TE 273 510 257 253 BT & &t 3 T H 212 407 183 224
WLy E2TH 249 470 213 257 | (fT B & 4 T B 122 259 126 133
Bk 1 TEH 199 403 190 213 B & &t 5 T H 421 833 398 435
WLy R 2TH 144 291 136 155 | |Bl & 4t 6 T H 351 555 246 309
Bk 3 TEH 222 438 213 225 B & & 7 T H 254 486 238 248
BIL K@ 1T H 271 532 246 286 | (fT B & 8 T B 304 539 274 265
LB ®M 2 TH 237 459 204 255 BT & &t 9 T H 332 598 281 317
BIL K 3T H 238 582 278 304 | MBS R 1TH 223 455 223 232
oL@\ o1 T B 399 730 3317 393 &g h 2 TH 80 145 69 76
WL/ 2 T H 177 346 168 178 | [FI & sk 3 TH 459 861 403 458
B L\ 3 T B 281 617 308 309 &g h st 4 TH 174 369 188 181
Wil R 1 TH 238 460 214 246 frE bt 5 TH 105 247 118 129
BELth R 2 TH 195 417 199 28| | &E S R 6 TH 688 | 1,420 661 759
Wl Rk 3TH 384 846 399 47 | (MBE R 7 TH 368 819 400 419
BELh R 4 TH 257 496 224 22 | | E R 8T H 281 538 258 280
Wil RS5TH 242 500 223 271 ff E bt 9 T H 159 281 135 146
Bl Ro6 TH 435 948 476 472 | | E m 1 T B 313 568 251 317
% W’ 1 T H 480 984 452 532 Bl 2 8 2 T H 267 407 246 161
WL R 2 T H 300 596 266 330 |fr M 3 T B 419 946 454 492
% W’ 3 T H 301 597 286 311 Bl 2 B 4 T H 196 368 181 187
B LR 4 T H 312 641 312 329 | [ B & 5 T B 185 353 159 194
oL m 1 T B 195 322 163 159 | |bl & B8 6 T H 258 478 220 258
WL 2 T H 70 150 70 80| (f & m 7 T B 42 66 35 31
# W 1 T B 50 101 51 50 Bl 2 8 8 T H 333 537 263 274
# W 2 T H 51 64 46 18| |fr BB 9 T H 237 418 192 226
#w b 3 T B 732 1, 591 785 806 AT g BT 4 4 2 2
L= v /R 175 395 187 208
WmLE~»81TH 689 1,320 597 723 prae &t 7,109 | 13,469 6,470 | 6,999
HwILE s B2TH 646 1,761 880 881
% W4 1 T B 134 287 135 152
WL odt 2 T H 334 821 413 408
% W4 3 T B 467 923 451 472
BILAE 1 TH 151 309 137 172
WILAE 2 TH 162 347 164 183
BIWLWAE 3 TH 160 340 162 178
W ILAE 4 TH 153 327 157 170
BIWLWAESTH 106 218 96 122
LR~y E1TH 226 473 220 253
wILRsE2TH 298 627 293 334
W A 1 T H 346 879 441 438
A 2 T B 260 540 238 302
W A 3 T H 261 547 253 294
# A 4 T H 419 859 404 455
W A 5 T H 295 597 308 289
# A 6 T B 51 80 40 40
W oA @ OFE OH 147 1,921 959 962
5% ] HT 19 19 8 1
"\ (3" BT 372 667 339 328
i I HT 174 293 134 159
# A ing 1 3 2 1

B & 14,456 30,375 14,520 | 15,855
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L # B 3 T H 324 633 313 30| [ B8 & 3 T B 199 429 215 214
L # K 4 T H 142 294 145 49| |LBa & 4 T8 17 220 116 104
L Kk 1 TH 215 502 242 260 | [Is B8 & 5 T B 282 557 264 293
L Kk 2 T H 435 798 379 M9 | (I8 & 6 T 8B 259 539 276 263
B A 1 T H 72 142 64 18| |54 B 1 TBH 97 245 115 130
A A 2 T H 107 229 113 M6 | | & B 2 T B 186 339 176 163
L E AN 3 T H 147 281 132 149 | |5 & A % H 56 99 4 58
I E A 4 T H 121 237 110 127 | E& 1 T H 70 118 50 68
E £ X B H 285 667 344 323 | [k & E 2 T BH 122 209 91 118
L =ZF 1 TEH 276 701 355 346 | [k & 8 3 T B 145 271 119 152
L =ZF 2 T H 116 269 118 151 L KEE 4 TBH 130 222 96 126
& & H 292 579 274 35| [k & ;E 5 T H 130 234 111 123
%1 T H 390 765 372 393 | (Im & W H 0 0 0 0
L E % 2 T H 235 431 222 209 | (5 /1 T H 602 | 1,153 523 630
= BT B 1 T H 158 342 164 178 | |l /v £ 2 T H 224 431 209 222
L BT B 2 T H 183 413 214 199 | |I& iy 44 49 15 34
= A H 375 793 385 408
LEEHEHE1THE 516 1,001 492 509 5 & 20,488 | 42,372 | 20,5500 | 21,872
a2 TH 498 964 469 495
LH &3 TH 668 1,509 728 781 W =
LEEEH M4 TH 258 532 265 267 s
LEH &S TH 271 516 245 271 fr & HRH | R % %
LEa e TH 384 816 392 424 | (BMRZVCDOET1TE 0 0 0 0
LEH &7 TEHE 680 1,459 734 725 | BEREZEUVOE2TH 245 531 272 259
L& 8 TH 331 818 408 M0 | BEHFHROE1TH 593 | 1,685 848 837
LEH &Ko TEH 384 959 472 487 | [MRHFHEOE2TH 0 0 0 0
E X i H 454 866 429 437 | |48 I Br| 1,126 | 1,987 | 1,013 974
L&2E8A1TEH 348 677 339 338
LE2E8A2TH 0 0 0 0 R 1,964 | 4203 | 2,133 2,070
L&84A3TEH 16 16 16
LEZ2E8A4TH 0 0 0 0 Z B
L XKL 1 TH 48 69 44 25 I
EXE 2 T B 0 0 0 0 BT 4 HE e % B =
L A B 1 T H 532 935 451 484 | IZ A AXAE 1 TBH 363 786 352 434
L X BT 2 T H 384 749 366 B3| A AHE 2 TBH 299 618 301 317
L A B 3 T H 607 1,166 554 612 | IZ A X B 3 T H 88 137 83 54
L1 TH 373 729 342 BT | Iz A XK = 142 264 131 133
L2 TH 256 553 269 24 | Iz A B B & 480 | 1,065 508 557
L # B 3 TH 272 556 261 296 | (I= A & B 214 417 203 214
E M X H 397 844 385 459 | Iz /A = £ ® 111 220 101 119
L E#® 1T H 146 317 149 168 | 1= # # # HT 490 885 402 483
E & ¥ 2 T H 261 547 263 284 | (I Kt 258 451 211 240
I & iy 513 1,068 553 515 | (= A/ ¥ = 279 524 258 266
L ER BT 1 T H 405 885 436 449 | |1z Vil BT 150 257 134 123
- BR BT 2 T H 507 1,126 545 581
I K%M 1TEH 753 1,613 729 884 =5 &t 2874 | 5624 | 2684 | 2940
LXE B 2TEH 716 1,547 708 839
L K$ B 3 TH 196 428 215 213 TEX
E @A 1T H 212 480 232 248 o N
K@ a2 T Bl 149 350 161 189 fr & HEH | R % =
LW % 3 T H 160 348 161 187 | |F & MET F B 548 914 435 479
LB &/ 1 TH 337 793 408 385 | [FHNMET = 2 # 118 192 88 104
B & 2 T H 417 975 492 483
5B %A 3 TBH 296 580 264 316 132 S 666 1,106 523 583
8B A 4 T H 301 550 268 282
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n R B B F 3 5 2 3| | BFRETEH1TAH 69 108 58 50
o R BT O# E 4 5 2 3 EFRETEH2TH 162 293 139 154
n R B F H B 1 5 2 3| |BFRETEH I TH 65 107 55 52
n R OB % B 0 0 0 0 EFET5I#h 1 TH 40 58 28 30
n R BRI 0 0 0 0| [EFEr5Ith2 TH 13 26 11 15
nEReE EERA 0 0 0 0| BEFET#/E1TEH 56 87 34 53
m R OB K & 3 5 3 2| |BEFE®BE2TH 131 212 105 107
D11 - | I A . 1 1 1 0 EFEHEITH 18 35 18 17
n R B E X i 0 0 0 0| [EFETEE1TH 74 120 54 66
o &® B /N A 2 4 2 2 EFRETERE2TAH 140 246 113 133
NRE /M=K 1TH 194 322 157 165 | |SFHETREIEE1TE 134 229 118 111
NRBT/MNZH 2 TH 30 49 26 2| |EFHTEmEE2TH 118 199 94 105
MABE1TAH 358 663 336 327 | [EFETEIEESTH 145 301 150 151
M A EI®R 2 TH 178 280 144 136 | [(EFETEIEE4TH 36 60 28 32
JIRET® 3 TEH 197 372 161 211 EFEMEZE1TH 102 175 80 95
MR EI®R 4 TH 98 175 82 Q| BFEEEE2TH 164 269 117 152
MEB®E1TAH 365 778 381 97 | |IEFET&EZE3TH 107 189 93 96
MEA B 2 TH 206 397 183 214 | |EFETEZR1TH 339 661 341 320
MEAB®HE3TAH 113 207 96 1m EFWMKE%R2TH 325 655 306 349
MR B 4 TH 1M 390 190 200 | |EFETIEZR3TH 89 188 88 100
JIRETA 5 TH 185 398 194 204 BEFRFETKEEZR4TH 66 121 49 12
M EA B 6 T H 107 213 99 114 | [EFETXZR5TH 351 736 384 352
N RET&H1TEH 109 222 99 123 EFRFETKEEZE6TH 177 379 191 188
MR EF2TH 153 296 133 163 | [EFETXKZR7TH 77 1m 51 60
NI RET#&% 3 TBH 167 310 150 160 EFRFETKEEZESTH 8 12 6 6
MR EF 4 TH 101 225 103 122 | [BEFETREZ2ROTEH 136 256 118 138
NRBE/NB1TEH 149 265 140 125 BEFWKEZR10TH 318 677 347 330
NARE/MB2TH 71 129 58 Al EFEEZR11TH 189 357 1m 186
NABA#®1TH 157 332 156 176 EFETM1TAH 11 133 59 74
NREAEZ2TAH 120 246 121 125 %Eﬂlﬂm 2 TH 18 31 16 15
NABA#®ITEH 14 30 13 17 EFETM3TEH 143 251 117 134
NEREAH1TE 124 250 128 122 | |BEFEMEEF1TH 57 90 43 47
NABAHB2TAH 94 198 96 102 EFRMMEEFE2TH 21 35 16 19
NREAEHITAH 46 87 43 4 | BEFET%ER1TH 35 53 23 30
JNRETRERWLI1TTEAE 148 284 133 151 EFREMAE®RE2TH 54 91 47 44
NEERERWL2TA 58 113 48 66| | BFETA®R3TH 78 124 61 63
JIRBEIRIL3TEH 28 60 30 30 EFRETERI1THE 81 162 12 90
EFETER2TEHE 136 256 124 132
IR & 3,755 7,316 3512 | 3804 | [EFET#M 3 TH 32 51 25 26
EFETRHE1TH 138 252 122 130
EFMMBR#EHE2TH 158 281 138 143
EFETREHEITH 67 100 42 58
EFETEHEFE1TAH 43 68 32 36
EFETAR2TH 207 311 138 173
EFETEHEFE3TAH 100 172 78 94
EFEEF1TH 69 125 61 64
EFMMEF2TH 179 329 150 179
EFETEF3ITH 108 196 104 92
EFEHHKXKFEFR 3 4 2 2
EFHIKXKFTEF 0 0 0 0
BF & 5453 | 9982 | 4817| 5,165
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=} B BT| 2,597 4,326 2,107 | 2,219 | |&@EThRI41TH 128 327 161 166
ZHETRRIL2TH 223 556 250 306
el & 2,597 4,326 2,107 2219 | |RHEETKR 1 TH 202 381 166 215
ZHETKR 2 TH 47 71 45 26
el ZHEAT=201TH 163 282 138 144
" " REAT=202TH 108 194 91 103
oA HRE | RR ® = REAT=2ZO3TH| 138 256 120 136
oM BT K O# 244 383 182 201 REAT=204TH 39 72 39 33
# M BT B F 129 199 90 109 | |&sEET=2#05TH 29 54 26 28
EOM BT B OB 145 214 100 14 | |Z@EET=206 TH 34 44 30 14
M HOOM 310 534 258 276 | |ZHETREIL1TH 129 259 129 130
RiEATANEIL 2 TH 133 304 149 155
A OE 828 1,330 630 700 | |REETNEIL 3 TH 23 47 19 28
REATANEIL 4 TH 76 140 67 73
08 ZHETNEILSTE 110 187 96 91
" N REATANEIL 6 TH 110 235 113 122
i & HRE | RR # = =HETREL 7 TH 60 107 47 60
TEE K E R AR 54 108 57 51 RiEETANER 1 TH 120 226 100 126
R KFERE 65 115 59 56 | |ZREETNERE 2 TH 119 218 101 117
ZHETKXFEFRE 2 5 2 3| |=RHEETREEITH 19 31 13 18
REETKFERNTE 42 82 44 38 | |REETNERE A4 TH 52 90 49 4
ZEHMAFT L FM@ 166 313 161 152 | |&EBTANER S TH 58 97 52 45
ZEHMAFTER 15 20 9 1 RiHETNERE 6 TH 37 74 36 38
RFEE KF 4 180 336 167 169
REHKXKFT hMA 81 144 73 A TH 4,737 9,291 4,503 4,788
RHEE KT R 87 180 82 98
ZHEEAMAF=END 18 29 14 15 e
REMREE1 T H 25 45 22 23 - R
ZHEMEEH2 TH 27 44 19 25 fr & L % %
RHEREHE3 T H 53 91 43 8| 12 EHMXKFTESE 610 859 404 455
RENMKREH4TH 44 85 39 46 ZEEKXKF KRIE 115 167 69 98
BREERE®S5 T H 7 147 73 N ZBEMXETE 6 6 4 2
RHEMRE®E6 T H 16 30 16 14
REBMRERH7 TH 35 73 34 39 ZiRkR § 731 1,032 4717 555
REMREHS TH 217 404 207 197
REBMREFHO TH 5 9 4 5 £
RAMREHE10TH 219 398 181 217 e "
EEMRBER1TH 8 1 6 5 fr & BER | BB % =
RHEMREE2TH 23 47 23 24| |2 BT W OF % 104 167 77 90
REMREESTH 21 39 17 2| |2 #® X £ 458 71 316 395
REMRERE4TH 47 92 44 48 | |28 ® A & 223 347 158 189
REMREES TH 93 224 114 110 | |12 B % 78 130 58 72
RHEMREEG6 TH 84 151 76 75
RHEE P RNAY 428 917 454 463 g &t 863 1,355 609 746
Z@EETRR1TH 28 49 23 26
Z@ETbR2TH 87 173 80 93
ZEETPR3ITH 42 80 40 40
ZHET G R4 TH 55 101 40 61
ZEET P RS5TH 208 411 201 210
Z@ETb ke TH 17 46 20 26 o -
ZEE A7 TH 17 40 29 18 a4 W & | 104,282| 199,481| 96,615| 102,866




